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Al 2,046,986 2,128,735 A 81,749
10 B2 S0 E & 2AE AR 9,747,551 10,136,831 A 389,280
OZMAESXNESHAE
33 9,747,551,000& 9,747,551 10, 136,831 A 389,280
= 6,823,286 7,005,780 N272,494
= 877,279 912,316 A35,037
Al 2,046,986 2,128,735 AB81,749
BEsEX htsd 22,754 16,100 6,654
= 15,928 11,270 4,658
< 2,048 1,449 599
Al 4,778 3,381 1,397
308 MHXItHMS0IH 22,754 16,100 6,654
= 15,928 11,270 4,658
< 2,048 1,449 599
Al 4,778 3,381 1,397
10 B2 S0t E & 2AE A 22,754 16,100 6,654
OFe 22X It =20
2 & 22,754,000 22,754 16,100 6,654
= 15,928 11,270 4,658
S 2,048 1,449 599
Al 4,778 3,381 1,397
Zoe s & FIXE 1,269,513 1,173,750 95,763
< 380,854 352,203 28,651
Al 888,659 821,547 67,112
308 MHXItHMS0H 1,269,513 1,173,750 95,763
< 380,854 352,203 28,651
Al 888,659 821,547 67,112
10 B2 SoeEaE2AE A 1,269,513 1,173,750 95,763
OZOMe &K & FIIXNE
2& 1,269,513,000& 1,269,513 1,173,750 95,763
S 380,854 352,203 28,651
Al 888,659 821,547 67,112
ZOAEE=EXN2 F0LAZE P 0 50,000 250,000
402 2I2tX201 & 0 50,000 250,000
03 22t/ &AL HI 0 50,000 250,000
OZsSEg=X2 Zojeezs g 7
38 0¥ 0 50,000 250,000
AU RIDNA= DN Full= Reage: 353,800 325,700 28,100
S 97,725 89,325 8,400
Al 256,075 236,375 19,700




S ol
Hu: FoHE 2N
ool MO REY =SNMUIA MBS (St &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
307 2I2H0I & 353,800 325,700 28,100
= 97,725 89,325 8,400
Al 256,075 236,375 19,700
TEEY IS 353,800 325,700 28,100
OZOIZ OIS NYMEHE 2
2% 153,000,0002 153,000 135,000 18,000
< 45,900 40,500 5,400
Al 107,100 94,500 12,600
OSSZHANZ MM =X
2% 33,100,000 33,100 23,000 10, 100
< 9,900 6,900 3,000
Al 23,200 16,100 7,100
Zojol FALSMHE 29 778,099 762,999 15, 100
= 140,059 137,340 2,719
Al 638,040 625,659 12,381
307 2I2HOI & 778,099 762,999 15, 100
= 140,059 137,340 2,719
Al 638,040 625,659 12,381
TEES IR 778,099 762,999 15, 100
ONHLLHHAFALSHE 2
2% 207,912,0002 207,912 195,812 12,100
< 37,425 35,246 2,179
Al 170,487 160,566 9,921
O=HANZNASHSNY FALSAL 29
2% 256,848,0002 256,848 253,848 3,000
< 46,233 45,693 540
Al 210,615 208, 155 2,460
OIETONQ BHH MUlA AY 119,750 75,872 43,878
= 35,925 22,761 13, 164
Al 83,825 53,111 30,714
307 2I2H0I & 119,750 75,872 43,878
= 35,925 22,761 13, 164
Al 83,825 53,111 30,714
ENEES I-TES 119,750 75,872 43,878
OUAZMNL SHH HHIA AL
2% 119,750,0002 119,750 75,872 43,878
= 35,925 22,761 13, 164
Al 83,825 53,111 30,714
SYZHABYDSNAME Js2Y 200,000 0 200,000
= 200,000 0 200,000
402 Q12 X201 E 200,000 0 200,000
= 200,000 0 200,000
02 DIZITHE AR B (0| HTHR) 200,000 0 200,000
OLLTABMNSXRHE Js2Y
200,000,000%! *17H £ 200,000 0 200,000
= 200,000 0 200,000
BHS A B (= F0jOl D) 296,634 304, 134 A7,500




A L olEoHel
B MY (Lo D)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
= 50,614 50,614 0
=) 15,184 15,184 0
Al 230,836 238,336 7,500
Jl=234l 76,524 84,024 AT7,500
Jl23Hl 76,524 84,024 27,500
202 Odl 45,300 52,800 A7,500
01 = LHO YI 45,300 52,800 AT7,500
OJlege+=d 20l Z & 45,300,000& 45,300 52,800 AT,500
HEEs(-olaoel ) 1,670,690 708,609 962,081
E8XE 1,670,690 708,609 962,081
EMdXE 1,670,690 708,609 962,081
802 BHEt= DI EF 1,670,690 708,609 962,081
01 202X 3eeE= 1,145,208 381,254 763,954
0201949 Lolgditel 9 AsEsSXd & &
e & 28,500,000& 28,500 0 28,500
02019 LolgdXtel ¥ Atslz2sXd =i O
At 3,115,000 3,115 0 3,115
020198 L =ZAE 2 ALY T XM
7,651,000 7,651 0 7,651
020198 L ZAIE 23 ALY Ol & 11,000& 11 0 "
020194 =AY LEzA AlY T &
6,185,000& 6,185 0 6,185
020194 Lol s8JI2MHlA ALY Ol
1,153,000& 1,153 0 1,153
020198 Lo SSZEAMHA A Ol X
2,650,000& 2,650 0 2,650
020194 SHIIJAEAHIA AbY Z 8 XtoH
143,000& 143 0 143
02019 SHLQ MBI 2AH S LAY T &
oH 783,000& 783 0 783
020198 S HL QAL 2 H & A 3ALS O &t
123,000& 123 0 123
02019 SIIJFAFMHIA AL O AF 4,000& 4 0 4
020198 SHLAESHML S= LA
bl A Ol At 42,0003 42 0 42
020194 JI=d3 X T8 &N
32,961,000 32,961 0 32,961
020198 EXJ|17 e T8y &N
1,698,000 1,698 0 1,698
02019 HSEXF SHI| XA ZEd &
o 330,000 330 0 330
02019 Zojelizg el &M 12,747,000 12,747 0 12,747
02019 o= (Jlx) & &N
14,143,000 14,143 0 14,143




M ol Zoiel ot

HH: WRES(=FoHe)

ol BEXE (chel & 9l)
SA- BB (AH) - NRAY - BAS Of 4 o JEL HRZ2

7.202,0002 7,202 0 7,202
020198 HASZOHQ MEHl L AAH X
Ty mo 1,442,000% 1,442 0 1,442
02019 ZOHASLSNASOINY e XA
613,268, 0002 613,268 0 613,268
020198 HHUSSNAZ0IXE Ol X
22,100,000% 22,100 0 22,100
02019 ESEX IS0 T8 T
3,538,0009 3,538 0 3,538
020198 ES2X IS0 01K 49,0008 49 0 49
020199 HOjQI S KA (2018 DIXNZ2) Ol
Xt 801,000%! 801 0 801
020198 2SI LAY T T
195, 0002 195 0 195
020198 LR 2R 0l X
9,0008 19 0 19
020198 ZETHEMNUIA BI2H XIS (Z0H0tS
IIEXRAY) Ol R 2,372,0009! 2,372 0 2,372
02019% QTSNS BI2H K@ D Toy
691,0002! 691 0 691
020198 oL B12H K& OlX
38,0009 38 0 38
02 Al- CHIRZES a3 525,482 327,355 198, 127
020198 LolgXiel ¥ ASISSXE =0 &
o zo 8,550,000% 8,550 0 8,550
020194 LolgXiel ¥ ASISSXE =0 0l
Xt 935,000%! 935 0 935
020198 AILIGZE 29 X 0K 6,000 6 0 6
020198 £&®A =05 2% 2435 N 0%
6,0002 6 0 6
020198 YZAL SYAMY Ty T
986,000% 986 0 986
020198 FZAIL SYAY 0K 2,0008 2 0 2
020198 YZAL BAK SE+Y Ty T
480, 0002 480 0 480
020198 COIMBAL XA Ha zoy
1,941,0002! 1,941 0 1,941
020198 MO QI=STAL KA T &oy
592,000%! 592 0 592
020198 =OIEZI2HHIA At Okt
149, 0002 149 0 149
020198 =QEESSANHIA At Ol X
341,000%! 341 0 341

020198 SIIJFAFAHIA ALY &8 &HoR
19,000& 19 0 19

020198 SIIJFAFAHEIA AHSY O At 1,000& 1 0 1




2N
X ZH -
L= B

el

=yl Sg] Relpni;
HR2as (-l ZoHel)
RSN

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
020198 S AN ZAEESIAS BE &
o 101,002 101 101
020198 S OIASI 2 A SHAY O R
16,0002 16 16
020198 SH=QUSSIH0H SSAHLY MY
A 01K 13,0002 13 13
020194 10TE#E SHL-IAA USRI AH A
ma o 1,0002! 1 1
020198 10TE2 S OIAL USRI AHIA
0l Xt 1,0002! 1 1
020198 JIZZ N Fg &
1,648,0002 1,648 1,648
020198 DSANLOIS SEUA L))
Are EE o 29,264,0002 29,264 29,264
020198 CH3t4 DSA X2Zolg BSH T
& oy 16,310,0002! 6,310 16,310
020193 AILIIBEE 2% Ol X 3,0002! 3 3
020199 FojQIoiz & &4 1,808,000% 1,898 1,898
020198 4L (IIE) Ze Zo
1,818,0002 1,818 1,818
020198 W4 (AT S) & & o
927,000% 927 927
020198 HASHOHQ AEHl L A X2
ma m o 721,000% 721 721
020198 HHISSNAZOHNY I Doy o
0l Xt 78,852,0002 78,852 78,852
020198 HHASSNRZ XA 01K
2,842,0002 2,842 2,842
020198 HELZE A0 HH moy
456,000% 456 456
020198 HEHZE IS0 OIX 7,000% 7 7
020199 OIS X2 (20184 DIXIS2) Ol
Xt 72,0002 172 172
020198 LTI LML T & o
42,0002 42 42
020194 2T LDH4LTR Ol X
4,000% 4 4
020198 LLWBHHIA HISH TR (Z0j0tS
IFEXRALL) O R 305,0002 305 305
020199 AOLSLTY BISH X T &ok
89,0002 89 89
020198 ool XY X XL OIX
5,000% 5 5
02019 FONOITH I = XI = AFMES O T
2,000% 2 2
020194 FoHoIZE =X 2 S A Ok
6,0002 6 6
020198 HOHOIFALSHE 2 T8 & o
1,333,0002 1,333 1,333




2N
X ZH -
L= B

el

LCoIF ool
WeEs (=0l
BENE

o
2
e
&

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
020198 ZolFIEsdH 2% 0Kk
13,000 13 13
020198 ZOHQl OIBAIE BAX Sg+g &
8 ol 1,176,0002 1,176 1,176
020198 FOHQ HEAIL L BUAL BAR
Sgag MY 3,125,0002 3,125 3,125
020198 HHAINATHEA L 2P Tgy &
1,980,0002 1,980 1,980
020198 ROHQ SIIESAIM 22d M8 &
o 1,970,0002 1,970 1,970
020198 TOHQAMEAL AF2AY T &
264,000 264 264
020198 TOHAMEAL MEHE 298 2
& o 8,363,0002 8,363 8,363
020198 ZOIZOHQ TYMBHE 28 I
& o 693,000 693 693
020192 ZOIZOHQ TYMBHME 28 OIX
5,000%! 5 5
02019% FOHQ SHOITHA TUHIE N T
& o 65,0002 165 165
02019% FOHQl SHOITHA TUHIE XY OX
13,000 13 13
020198 HOHOl SAXE At Ol 10,0008 10 10
020198 O{&F 4R DE X A O R
7,0002! 7 7
020198 FOHOl +0{D& SYH| Ol X
2,0002! 2 2
020198 ZOHQ MEBOISKAME 2l Ol X
5,0002! 5 5
020198 ZOHQ +5tSSIME 24| 0%
4,000%! 4 4
020198 ZOHO! DIZXAME SHHl Ol Xt
5,0002! 5 5
020198 XIHZ 4O RNYMSXME S|
Ol Xt 5,0008 5 5
020198 S S0t =XHE 2 01X
7,0002! 7 7
020198 AZTOIQ B U SASAH XY
Hg mo 265,000%! 265 265
020198 AFFOIQ B o SASAH XY
Ol Xt 5,0008 5 5
020198 OI&ZHO BHHAUIA A T
& o 16,444,0002! 16,444 16,444
020198 ZOHABSNAET FIHNA I o
11,196,0002! 11,196 11,196
020198 HOHQIBSXAT EIIXE 01K
1,421,0002 1,421 1,421
020198 HOHOIS WEXE MUlA Ty aoy
138,0002! 138 138
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